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9 points

Answer

Marks

Part A (3 points)

F =

Part B(3 points)

C=

Part C (3 points)

Imax
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77 T AT— L ADIREET A (11 points)
Part \ Answer | Marks
Part A. 77 TNT—LADOREFER (2 points)

Al.
0.3 pts b=

A2, |47
1.3 pts p—

a, =

A3.
0.2pts | b, =

A4,
0.2 pts dy =

Part B. /& L iRIEDOHEE (6 points)

B1.

0.8 pts Vo

Q

B2. (AVG> Vo= Ve
0.3 pts B

B3. Ve
0.7 pts VGmin

B4.
1.0 pts




Dy m Answer Sheet Theoretical competition
N9 sudentcode [ [ [ [ 1]  Problem2

0
2014 Kazakhstan-Astana

page2 of 2

BS. ~
03pts |PL~
B6. _ 1Ay,
0.6pts |* "V, AT
B7.
1.1 pts L=
BS. | _
1.2 pts B

Part C. /K - K {&D% (3 points)

Cl.
1.3 pts Apr
R LT 2 EDTE B KEO RO R/IME
c2.

1.7 pts
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H A RBEDOR b BEFiZEF /)L (10 points)

Part \ Answer | Marks

Part A. B C.&i5H T/ 1 2 K& (4.8 points)

no =
AL | _
1.8 pts B
b =
A2 |
0.6 pts e
A3 |, _
1.7 pts N
A4, _
0.7 pts Pgas

Part B. B C.&ske 72 7 2 % 7E (5.2 points)

A =
B1.
2.0 pts
A, =
B2. B, =
0.6 pts
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B3.

0.3 pts hi(L) =

B4.
0.6 pts

B5.
1.2 pts

Bé6.
0.5 pts




